COMPANY
PROFILE

Sinollextile

Add: No.9, 10th Street, HEDA,

Hangzhou, Zhejiang, China
Mob: 86-18058173515

Mail: merlin@sinotextilemachinery.com

COMMUNICATION / INNOVATION / COOPERATION

Sino Textile Machinery is specialized in weaving machinery spare parts. With more than 20 years of experience in textile industry,
we can deliver textile machinery spare parts meeting the right demand on both quality and price. Under the joint efforts of our
members, we have now grown up to be the most integrated supplier in China to offer weaving machines and loom spare parts.

We are providing—

Rapier loom spare parts: including rapier gripper, driving sprocket wheel, gripper opener/releaser, rapier tape, guide hook, guide
rail.

Jacquard spare parts: including jacquard wire heddle, spring, comber board, harness cord, harness assembly, pulley wheel,
module/solenoid, cable, controller.

Common replacement parts: including weft feeder/accumulator and the relevant parts, weft sensor, electronic weft selector, drop
wire, leno selvedge device, heald wire, warp stop motion, tuck in device, cutter and blade, temple cylinder, proximity switch and
sensor, circuit panel, electromagnet coil, encoder and motor, heald frame, membrane switch and touch screen, weft feeler, warp
beam, clutch and brake, weaving reed and etc.

Dobby spare parts: for Staubli dobby and Chinese brand dobby.

According to brand, we are offering parts for: Picanol, Vamatex, Sulzer, Chinese loom, Somet, Dornier, Iro & Roj, ltema, Muller,
Panter, Toyota, Tsudakoma, Van De Wiele, Bonas, Gross, Staubli and etc.



SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

I'I'HEMAHEEQ!

I'rm«;MAnEtﬂ

Page 11 Fage 11
o= — 2
| NoT™ 200 Page 11 | xcm#iai Page 11

| THEMAL1 %8

e ——— T

| tHEMALL 48y

Page 12

e ———
0. 88888 . ess " , ssns

I THEMA-SE E 8] Page 12

I'l'HEMA-SEEﬁ!

m

Page 12

o —

| cs100 x 1R Pagc 13 | ss100 4ty Page 13
| cs100 8100 Page 13 | cs100 £ Page 13

| cs200 x81 ) Page 13 | cs200i88) Page 13

| G200 1en)

| Gozoo 8@ i m

Page 13 Page 13

| Gozo0 & m ke Page 13

| Gs200 80@En

T s e

| G6200 48108 Page 13 | G6200F # bt Page 13

| Go200 0 Fie W

Pape 14

Page 14

| cs200 () Page 14 | cszo0#i sAce)

Page 14

WWW.SINOTEXTILEMACHINERY.COM

MOBILE/WHATSAPP: +86-18058173515

-1-




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

I wmEr2001 E88) M, B Page 14 I mEro00 H8E) RN, N Page 14

S 2= 0o S .

|£Hﬂ:F20017’.‘;ﬂJ(f'ﬁ) ARl mQ Page 14 |f:gi F2001 818 HHM. ®RY Page 14

| FAST 7281 Page 15 | FAST L8l Page 15

I G6300 A8 Page 15 I G6300 HH Page 15

T

| GS900 481 Page 16
 T— ]
| 6™ z:m Page 16 | ™ %8 Page 16

| GTM-AS %8 Page 17 | GTM-AS £ 8 Page 17

e AR, e S R,

| MULLERT 484 Page 17 | MuLLERT #81 Page 17

ﬂ

| MULLERK 781 Page 18 | MULLERK #i 8y Page 18

_a-m-ﬂ)

| MULLERN %81 Page 18 | MuLLERY 45 Page 18

| PANTER 28] #Fif#, &M Page 19 I PANTER #i 8l Page 19

| LEONARDO 78 Page 19 ILEONARDO H#l Page 19

I K8s A8 Page 20 IKss 4 Page 20

| Leonarpo I 78 Page 20 | LEoNARDO I #it Page 20

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

I P1o0t 78 Page 21 I Piootl HE Page 21
| ewmomzs Page 21 | @ik mem 42l Page 21

S —

| Cr401 28] Page 22 I Cc/401 58 Page 22

R e —

I S™M93 F & Page 22
- - rﬁ _—
e
| BAsmosgm %8 Page 23 | BAsmosrm #a Page 23

| pso0 1 %8 Page 23 | tesoo 1 %8 Page 23

| Trs0o 4z Page 24 | Tpseo. TPs00 #ia Page 24

N .. e,
@ of—v—lﬁ'
. ©® b

I GITM-3 A% Page 24 I GIM-3 fidl] Page 24

I GAMMA-FF %8 Page 25 I GAMMA-FF £ 8 Page 25

| caMmass x4 Page 25 | cavmacs Ha Page 25

| cammase %a Page 26 | cammase #si Page 26

| rr————C T .

I GAMMAZ002 728 Page 26 | GAMMAZ002 58 Page 26

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515

-3-




SINOTETILE SPARE PARTS RAPIER GRIPPER HEAD

L=~

| SD400 L& Page 27 I SD400 A7 & Page 27 | ALPHA-300M 88 A& Page 29 | ALPHA-30031%8 £4) Page 29

| AORY2-100HEEE /7 8) Page 30 | AORY2-100h 88 £ Page 30

| #5129 Page 28 ([ELIE T Page 28 | crr-ssme s:al Page 30 | crr-samer say Page 30

| %1 £ 8ED Page 28 | #r% T Lsie Page 28 | oAz r2001 %80 Page 31 | pAzrz001 #i8 Page 31

N ——

I eI ) Page 28 | £ RN HHGR Page28 | AC/281 %£# Page 31 | AC/281 4id) Page 31

g E—— G—

| e % Page 29 | e w0 Page 29 | row 2z Page 32 |pew a1 Page 32

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

| 745 223 Page 32 | 745 &a Page 32
| 1001 81 Page 33 | 1001 %8 Page 33

| cars2 s Page 33 | carss #8 Page 33

| HL200 2280 Page 34 | rr3B 48 Page 34

| ssasa Page 34 | #s11s0k 24 Page 34

I‘ﬁﬁé%ﬂiﬁﬂl Page 34 I NSk HEHA Page 34

| New THEMA 7281 Page 35 | NEw THEMA % &1 Page 35

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515

.

—

| 2w zn Page 35 | =x1some

i —

| A x4 Puge 36 | sma s 4e Page 36
| s Page 36 | % 1200883 Page 36
| 360 mmes s e Page 37 | 360 Bismetion Page 37
| waAES Page 37 | ptia Page 37

| aLpHA Z 8 Page 38 | ALrEA 48y Page 38

| Fo A Page 38 | #i 84F Page 38




SINOTETILE SPARE PARTS RAPIER GRIPPER HEAD

THEMALIE TIIEMAL1

Dol C oo D83
- — ——— C e mem————
— oS e ———
SR
Daols 0GR

o)

[l vl
‘ . Dis
- - P
D17

1 6 DY
e - - -
e -] Cre——TY
R e o @7 ¢ o
bis b2 na? nal mo nes
o et
| k S——— N & - — - m m
o
o4 DI1$ D24 D2 Bl s S & 38 D2 D2 D 9%
T B & >
- D O |™0 | = = = - o O m| = = @y | G G e | - -G w) | =i | =) | ey
MIxé M2xg | M23x5 | M2x3 M23x5  MIxX3 M2x4 MI2x5 | M2xd Mlx3 MIxs Mixs M2x4 M2x3 M2xs | M2ixs | M2xs
CRBRS  Cos CloBm o cuz 15 14 DSMRE  Cclow® DSWBE D9S2 D 3l o3 ©m e 8l cu [ o7 Do Doy 13109 101

NCTM THEMA-SE

= NP
a. SeBES _ ses T , esse , D

e T T e S
. = e p——— -

DOI43L D18

D - - -y
A — - 1 as2 11454
o35 cas 5 R
=
o ~) [SCE D1l Dil4 G
L —~—gma B L @~ (o]

D151 D 1453 D 1435 1433 _— . DAMMMMMMAM - ‘

co Co6
c1os Dz DS Cis
-——
- T W e~ e o N— ‘-
o c® ca D456 D1257 D 1258 D 1460 D 143 &’ ‘ (o]
€105 106 RIS DG B
m) | enf) | e=) =g - - [ =
(o] = - A 5 S " -
d ' M2K Mixé | Mixs | mM23Xs | wIx3 WE | M2axs | MIxd M2 | M2x3 - =) o - ) | - | e
c13 C4s Cdé cat e o D 1462 O 1463 210 D L16s D 1466 Lilas? D 1a58 MIXLD MIXd M2IX4 M2x4 Mixd MIxd Mixa
107 cles e DIZe Bl DIl 0123

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

G6100

124
b}
YRR

- =
M3IxXs A2.5%

1 [& [ENEN D

G6200
C 0138 Dol4

1% o1 5
‘ res——
R .‘ﬁ\w
010 [ol E73
D13

WWW.SINOTEXTILEMACHINERY.COM

MOBILE/WHATSAPP: +86-18058173515

G6200

F &)

-
‘

—Aﬁgﬁ =

(e 1] €163

T e L
cl L Ce Cled

=2 |

Lols2

a . D182
Q177

T | ] o
‘ o D184 Doss D1 1
s
PR E Y nii2 D192 D135

- | = | -p o ’ —, q = - -
M3 M2x4 MIx10 M2 MI6%3 ML6xA M2x3
C 180 (Al 3

DIviBE D IosHBT DI o197 D1a7-1 D108

L o



SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

[SUIEES D 020s

C 108
o ——r (YD) nan B210
<200 203
Dz nzia 2le Dy

2201
<202

<209
o
T 208

D213 D213 o
Maxs | M2x4 | M2xd | M2.5xS ‘ ’ Mix3 | M2x3 | ’ ‘
236 2207 208 @209 na21s 2220

@ - T —
Cozaz D025
J: .
S0 245
ez
‘ m e ﬁ
c23 44 | — ‘
n2s 240 D250

16 D248 D214 G251 D253 026 D205 n
=f | =§ L3 -5 -
M2x3 M2IX3 M1.oX3 M2x4 M2x4
c2s2 c2%1 254 D267 D25k

22 25 D22
c223 D214 c227? n2s
- | om =5 | af
MExs | MExd M2x3 | M2xd
228 228 Dz40 D241

WWW.SINOTEXTILEMACHINERY.COM

-d

B21s

D217
<202

L]

@

M2x4
D2:2

MOBILE/WHATSAPP: +86-18058173515

1D2E3

AN | L] ]




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

GTM-AS

L0286 1203400

== (1111 ) O 12303 305

200 € an2 296
ALD & O « (i) &
297 [aii4) | 263 C 208 T 234 306
- || : |
Mi=4q Max3 MIGix: | M13xdg
022EE [&3ci) D 307 2308

MULLERT

..a-%“

[SEEITS noaz

iy el
e

309

(110

TR

T3l 3l T3

g—-f-

MULLERIT

dm

on3Tr 10348
€338 12349
B - e
= 908 550 D33

B CHe [EERY] 2354 13355

-t wf of | m{ oF ‘-ﬂﬁ—l'ﬂﬂ

MZixE MIxZ MIxs MLixS Mlx1 MInd MIixE MIxg pRE S MIxi ‘
[aR R 245 © 36 317 AR LAt 338 D 356 L 260 L3l

MULLERIV

L33
CU3RL
-
— . onan . eun . on g
L3v

[T

0 AEER San el i tﬁ >

D325 na nats
PR
&
e = I = N & [ ] —am @ ]
G 314 (TS
€33 T3S il C3le Mg D130 D o33l a7y 13339 Ligel
i | wg of wf | =F | ow | o= e o o | = - wy of | = =5 ‘ of W | = | o ‘ ‘
Miixg | MIxz WMixd  MIEXS | Vimd MINE | MiSxS | MIxs wixe | MLaxl  M2xd | MzZswe MISRy a3 Mi%: | WEa%E WEkd Mawil | HEeS Mixd HMixd  Mioxd
P cale 3l a2 e S -3 D333 oo D333 336 b3t EET] R R AT EESH) 17541 TECH [EETE EET 2385

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515

-9.




SINOTETILE SPARE PARTS RAPIER GRIPPER HEAD

PANTER K388

- o] ™ ™ ) -] o | ol
M2X3 | M2x2 Mléxd M2ixds M2xd Maxd M2x2.3 MIx3 MIxd M2x§
£ 38s D398 3% [ kT C 435 4 T dda D447 0A4R T 4481

LEONARDO LEONARDO [

©dant man: Ldle

[BEIES

. D ele DAz
A0 A4 406 ©oasn e oy D4
— v & T < } =2 o — @ TR T =g
< e %
.
C 403 C 407 C 408 D15 Lale D420
C 403 car A DA Lar D ap4
M2%T S | Mrwd Marwd ‘ ‘ ‘ ‘ Mix? s 1 5 MExd M2l | | ‘ \ MIxd M2x5 ‘ ‘ ‘ | MIx2.3 | M2%2.3 ‘ ‘ |
o 408 c410 CAn ol 51 D4z D423 D4 ¢ ase o157 RECH 486

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

P1001

AR LTl At i

o L) =i o o
MIRTS  MIxES | M2xAF g
TATR I T Tl Zfm T

ERAlY

9 |

M1AXS M2

K2K3

st ©s00 [ER10] 1nsGa

WWW.SINOTEXTILEMACHINERY.COM

MOBILE/WHATSAPP: +86-18058173515

C/an1

13574 1h 525 17530

° « | =t | wmf mf
MK MENS | M2SMD aiwd
531 msi LRES RIS




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

HASM93) Inl

. -
e —
<:__J1;§§;=15i§53§ S . 7. @ i

AEPEENNED e @
F -Ah A 02 59z 592

© 589 @590 501 0495 501 nons D 6o6 na6lo

L]

M2X4

o=t

MIXZ

=t

M25X5

I ‘ ‘ M2SX3  M2XZ ‘ ‘ | ‘
€596 C597 398 Dnen 3612

TP500 1

TP500 1

e e e
<623 TE2
CH C €16

- S
. B Y “ P ——r
a8l Cas n626 632 o657 C634
| M2 5x6 M2 SXR Max4 MIx3 | MIx< M2Ix4 M2x3 MIXR
Cél? T 620 C 521 Ce22 C 0635 C 636 C637 C 638 C 838 C 640 C 641

WWW.SINOTEXTILEMACHINERY.COM

MOBILE/WHATSAPP: +86-18058173515

TP500, TP600O

e —————

TP500, TP6OO

., =

D652 D £6%

e () -2

D 863 DeEs DaTe
B 4 = [
Lsoq Deer Dot
C o435 < 624 T 832
e m— o=y (L]
== [ " - 4 =
© 646 6 D Ess 631 13 E6s 12658 nsT2
| M2xA4 M2 §x4 M2 Sxd M2x3 MAIn G ‘ | M2.5x5S M2.5%x3 Mixa M2x13 M2.5%x5
C 657 C os8 <659 <650 <661 D673 D674 LDo7s L6 D677

GTM-3

D 01487
g —
oaer D 01453
v .- o
CUove 683
—_— 0 o | - °

© e < 581 Cass D18s o2

<581 C 582 C 658 D192
T
- e = @ = | omf o -
M3x7 M2xd M2.5x3 M2x3 M2ExS M2.5 M2.Sxd
Q687 Co88 2689 690 2091 01493 D491

-12 -




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

GAMMA-FF

CORTS

nosel

s 10| & —
I eas navd
e o J - K5 %
CERO og-1 £ o ARS 0G5 Do6%6 DoaT T oog
—————— ° et LA B v ef— B
¢ oal cas ¢ st Do © 00 b0l 702 b e

- e | = | = —_— | ) | =) | mf

MaxT | Mimd | M2Sx3 | M2xd M ks M2t | Mixs | maxa | M2sxs

C 67 OOER RS [o8-1H 14651 D74 n7as D7 nn?

GAMMA9S

GAMMA99

D73
[ ] D070
728 740
—net - v
N o or
D741
- o
— Dy =y L * -
©EL ¢ [SRET] 0742 nse 0 TIE

O — [ — s - LA

0708

aTe c712
DTs sieT ] D 0
pa—
e— (e o] =z o L =g
<710 <713 D718 Dl oD D723
= =% == -
\rl'.‘lld M2 Sx 17 M2Txd M2 Sx 10 5 MIxd
cTld D724 D7izs D Tid D77

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515

D743 n 744 D749
[ =& B | =h |
M2 M2?x5 M2.5%3 MIx7 M2x5  |M25ml05] M2Ixd M25x5
(Bt [k bl TR 17119 n7se n 731 n7s2 n743

GAMMAZ2002

oY BAL]

aTa0
T ———T U . < == —
C7i4 o 7al
[SREES 13762
o763
©Te
S ——— A
=g RIT} 1763
MEExF | M2 Axa | M2 Exd ‘ | ‘ M2 5% M6 ‘ ‘ ‘ ‘
faRat) feliild 760 I 566 o 76T

-13 -




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

SD400

ZRARI E8

06T

DoT*T

1780

© I © 7S

o’ Y

Loy R
’ ‘ I 3 MIxTR M3xs ’ ’ ‘
D 7E) 2

701

[IETS

-00-0”0 - —

o806 8

M4 M3

‘@ o

TR (S]]

-

Do8ly

WWW.SINOTEXTILEMACHINERY.COM

NRIR ANt
25 g B G,  —
1N K19 79 ns20 LOB0N
Coony t ) TLANR
—— d_ - e - P -
(%03 RN <8Nl 8o 12821 11823 G801 1082 13827
- e o) o - ) ] s
Mixs Maxd Mix3 MAxT (IR} M3 Mixy MAxo Mdxd M3AX13
%13 G814 «C8's RS 1332 1> %33 15831 13 835 )83 N3

MOBILE/WHATSAPP: +86-1805817351

R C 810 CR1S (S8 0] i

T1ARSS

L e e—

CRO0T Lt gau S

v e == B ————

12 85" 13 862 DB 86 CR0O

- =
O [ V) [ )] =
S1RaL 1RAT CURS ©R0S ¢ TR § . .
T E6S maT SRS vivag
& ‘ o ¢
Qo o - =) » | — (e - » | —
(5 Mixo MAxo Mixs | myxld a3 MIxs Mixo MAX1 | Mdx.d
LRSS BrY %57 K58 EE DHTA 15 K7T 1KTE INTY
Custe (EfH) 12 osvy (R
cosi0 (R Lo (RE)
830 |i c599 .
1 ena i
_—— - T
el £387 S 12ym BRELT:
———— v j=s e S
FERE——— i ﬂ === frosos - mmonzud
[ 384 T
13902 122905 1290 U9
o | =0 e =
833 c385 C38 s 388 2 q ° °
12 wirg nwone T onT 1> ws T
w—— === [ oy o ] — m— [ ]
M1 MAx.o M Mixs | NIz | M3x10 M.
VAEEL  C KRB Cxos LN CROT [SE2H « naa 12914 13913 Doy Ny




SINOTETILE SPARE PARTS RAPIER GRIPPER HEAD

B8 AOR92-40048 %

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

B A&a NF2001

PGW

Dall3l

s S RTEN D 1132

[EE— QI o &

R L] o L1133 D133 Dlla¢ D1y
O T R, AT WA =g L 5
B - ring DIl D137 DL
- - -
K2xd B25xE Mixg
Tlze el T 140

AC/281

i

CuL LT

Ll
<141 111150
- e 1]
oLz [N o
Sl i L
R b

[ e [ ] & Ay T “
c s s DS niisa Doss DisE

[T MANY EERE-t)

- o ‘

il P B

WANE [T BIZns

21147 7148 149 D115y L11ay 1141

WWW.SINOTEXTILEMACHINERY.COM

MOBILE/WHATSAPP: +86-1805817351

< ullal

walla? bt ke

ERER " leR [T S

Nl
[ —
Tl D 1183
- = e,
— <
PR REIY 01184

S VB ST, Gl se ST ERE RN
WX G ‘ At ‘ Mzxs ‘ ‘ W3IL1G MIxd ‘ WAk ‘ ‘ ‘
G S

TG T 18T T Es

7458

Ll

SRR

R IEH] oo1va

] oored

Esl bax Mdwd

-1

BRIt BTN voeT e

D

Tnies

Jl3eh

B L

D.1as

D 1201 Dlzlo

11200 1208 IR
T o

iz J1ENE 112

%

= = O e =
-0z 1203 [ER I zas 11213

ey L |

M2.5 %6 LIZxE Mix I

izt d [ER keaf-) 1216




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

1001

c \ ‘ 1263 D 1266 D 1262
1
s S d o Wtreereeeers
——
o D126 D267 D127

D 1265

D168 ni2m

- [ =

M2x4 M2 Sxs

=T=T%] ||

=5 | =f

M25x4

- e | o

MixIC

M2.5%8  M2.5x12

Mixla M2.5x8 M3Ix35 M2x4
<1259 <1260 C 1261 D272

01287 C

C 1257 <1258

D173

D274 Di127s D127%

GA752

GA753

[+7 p — — —_ o *
D179 D 1281 21288 D291
D1Isc D1zs2 Di2ge D1
M2.5x3 MIXE MI.3x8 M3x5 Mix§
D 1283 D128« D128s D193 21294

WWW.SINOTEXTILEMACHINERY.COM

MOBILE/WHATSAPP: +86-18058173515

HL200 RT-3B

CiTod (ERET

Do 129,
D 1302
Dizes D 1303 1304
D 1286 D 1298
T304 21304
L1304 D 1205 21320
.. O |- =
MIx: | M3X7 | M4xS M3 M3x$ M2x4

1289 D 1300 D 1300 D310 FREN] 312

e
EF45 /5 #

e N S T T ———— e
45790075 81

A RTINS |

y = ——— =
HEIISK A8

3 Cs D1 D 1330
©1327 1328 0133 D28s 1332

-

MdAxE
D335

BMIXS
D 1334

e | [ [ [T [ 1 [ ]|

D 1335




SINOTETILE SPARE PARTS RAPIER GRIPPER HEAD

NEWTHEMA i | &1+

I - I LI Egj JRITRTY ﬁﬁlj

[EREETS 21337 LTTTTHTT)
[}

11452 171154

319 D157 DL38
e |
k13 - — ~
9 ' _ «< Coemmmma ¢ ‘(f,_l._? = o] s CLs03 __—T_/s’s—_;\} e o)

nizst T3y Risda nizse M5 pIs

71338 C135¢ M1aqn 1110

DI511 Ll

- ° NWWW ’ T_ 1= ey IR T R cisus - ©

el Cladz V1113 ISR RR R [PRERTY 21457 PRREL 3150 n11e”

]

L [ ] o
M2xe ‘ M2xe ’ ¢ o

-t - o - - . -
M23x5 M2x ze | 1] MIdx5  MIx! Mixé M2x3 121313
[SRERLY 1447 PeREEES o9 RREEIT 13 o 131152 N3 [ea V] 131155 121456 [P brd 121164

Z RN gl — FEAE RIaH 12008k ———

13,498 Ll IRIE nsi n'sSI1s
MAXTL [ MAXI0 MAXES WAXA E-1) UE] 28] gaxd Wiz Max6 3 x Maxs
C147R 1376 FE NI4A1 TR: MR D48 DI4SS DUASE D4sT TG0 SIS s PIEEN RIS

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

RAPIER GRIPPER HEAD

ALPHA

360 HhEX

S T ——

cols2 o | DoLs3
123
G 1525

LAXH W4X13

=
4 8l

=y = <)

MZ.AX3S
1) 1385

REES]
115k

WMAXE

[ENS R L.

-2 2 |

1531 [

»E &

MIXE I 2Xn MERS
[IRET [T 131603

MIXN5

588 121335

-19 -

WWW.SINOTEXTILEMACHINERY.COM

MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

SINOTEX NO.

SN01877-WZzZ
SN01878-WZ
SN01879-WZzZ
SN01880-WzZ
SN01881-Wz
SN01882-WzZ
SN01883-WzZ
SN01884-WZz
SN01885-WZ
SN01886-WZ
SN01887-WZz
SN01888-WzZ
SN01889-WzZ
SN01890-Wz
SN01891-Wz
SN01892-WzZ
SN01893-WZ
SN01894-Wz
SN01895-WzZ
SN01896-WZ
SN01897-WzZ
SN01898-WzZ
SN01899-WZ

ORIGINAL CODE
BE72248

R32001Y

R32020X

R32009Y
R32010X/R32010XN
R32011X/R32062
AC/2S | LO6
R32009X/R32009XQ
R32003Y
R32082X/R32060XT
R32017X/R32017XS
R32055Y/R32009YW
R32067X
R32123X/R32123XF
R32057X/R32057XP
R32064X/R32064XN
R32061Y/R32061XG
AC25222

R32005Y

R32009Y.

R32010X.
R32011X./R32062
R32054X

WWW.SINOTEXTILEMACHINERY.COM

NAME & DESCRIPTION
WEFT HOLDER WITH CONNECTOR

AC/2S | LEFT GRIPPER

AC/2S | LEFT GRIPPER BACK BODY
AC/2S | LEFT GRIPPER FRONT BODY
AC/2S | LEFT GRIPPER PRESSURE LAMEL
AC/2S | LEFT GRIPPER PROTECTOR
AC/2S | LEFT GRIPPER WASHER

AC/2S | LEFT GRIPPER WEFT HOLDING
AC/2S | RIGHT GRIPPER

AC/2S | RIGHT GRIPPER BODY

AC/2S | RIGHT GRIPPER BOTTOM CLAM
AC/2S | RIGHT GRIPPER HOOK

AC/2S | RIGHT GRIPPER PLASTIC BLOCK
AC/2S | RIGHT GRIPPER PLASTIC LAMEL
AC/2S | RIGHT GRIPPER PRESSURE LAMEL
AC/2S | RIGHT GRIPPER PRESSURE LAMEL
AC/2S | RIGHT GRIPPER PROTECTOR
AC/2S | RIGHT GRIPPER STOPPER

AC/2S Il LEFT GRIPPER

AC/2S II LEFT GRIPPER FRONT BODY
AC/2S Il LEFT GRIPPER PRESSURE LAMEL
AC/2S Il LEFT GRIPPER PROTETOR
AC/2S II LEFT GRIPPER REAR BODY

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN01900-WZz
SN01901-WZz
SN01902-WZ
SN01903-WZ
SN01904-WZz
SN01905-WZ
SN01906-WZ
SN01907-Wz
SN01908-WZ
SN01909-WZ
SN01910-WZz
SN01911-WZ
SN01912-WZ
SN01913-WZz
SN01914-WZ
SN01915-WZ
SN01916-WZ
SN01917-WZ
SN01918-WZ
SN01919-WZz
SN01920-WZ
SN01921-WZ
SN01922-WZ
SN01923-WZ

AC/2S 1 LO6
R32009X.
R32004Y
R32060X
R32055X
R32017X.
R32067X.
R32123X.
R32057X.
R32064X.
R32061Y
AC/2S Il RO9

R32062XB/R32062

LADLOLA
LADL15A
LEDLOO8

LEDL50A
LEDL51A
LEDL53A
LEDL54A
LEDLS7A
LEDLO11

LADLODB/LADLODB
LADLO5B/LADLO6B

WWW.SINOTEXTILEMACHINERY.COM

AC/2S II LEFT GRIPPER WASHER

AC/2S Il LEFT GRIPPER WEFT HOLDING
AC/2S Il RIGHT GRIPPER

AC/2S Il RIGHT GRIPPER BODY

AC/2S I RIGHT GRIPPER HOOK

AC/2S Il RIGHT GRIPPER LOWER CLAM
AC/2S Il RIGHT GRIPPER PLASTIC BLOCK
AC/2S Il RIGHT GRIPPER PLASTIC LAMEL
AC/2S Il RIGHT GRIPPER PRESSURE LAMEL
AC/2S Il RIGHT GRIPPER PRESSURE SPRING PLATE
AC/2S I RIGHT GRIPPER PROTECTOR
AC/2S Il RIGHT GRIPPER WASHER
AC/2S LEFT GRIPPERP LONG ROTECTOR
ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PART

ALPHA GFG GRIPPER PARTS

ALPHA GFG | LEFT GRIPPER

ALPHA GFG | RIGHT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN01924-WZ
SN01925-WZ
SN01926-WZ
SN01927-WZ
SN01928-WZ
SN01929-WZ
SN01930-WZ
SN01931-WZz
SN01932-WZ
SN01933-WZ
SN01934-Wz
SN01935-WZ
SN01936-WZ
SN01937-WZz
SN01938-WZ
SN01939-WZ
SN01940-WZz
SN01941-WZ
SN01942-WZ
SN01943-WZz
SN01944-WZ
SN01945-WZ
SN01946-WZ
SN01947-WZz

ALPHA GFG II LOO
ALPHA GFG Il ROO
J421L01
LEDLO7A
HDL263A
HDL180A
EDLO33A
HDL262A
HDL260A
J42R01
LEDLO1B
LADLO4A
LADLO1A
LEDLOSA
LEDLO2B
LEDLOSA
LEDLO3A
LADLO3A
LEDLO4A
LEDL26A
ALFALOO
ALFALO1
ALFALO4
ALFALO8

WWW.SINOTEXTILEMACHINERY.COM

ALPHA GFG II LEFT GRIPPER

ALPHA GFG Il RIGHT GRIPPER

ALPHA GFG LEFT GRIPPER BODY

ALPHA GFG LEFT GRIPPER CROSS SCREW M2X3=A15
ALPHA GFG LEFT GRIPPER LEVER

ALPHA GFG LEFT GRIPPER SCREW M2X3
ALPHA GFG LEFT GRIPPER SCREW M2X5
ALPHA GFG LEFT GRIPPER SPRING PLATE
ALPHA GFG LEFT GRIPPER WEFT HOLDER
ALPHA GFG RIGHT GRIPPER BODY

ALPHA GFG RIGHT GRIPPER BOTTOM PLATE
ALPHA GFG RIGHT GRIPPER CLIP FOR GROSS YARN
ALPHA GFG RIGHT GRIPPER HOOK

ALPHA GFG RIGHT GRIPPER INLAY PIECE
ALPHA GFG RIGHT GRIPPER LEVER

ALPHA GFG RIGHT GRIPPER LONG GUIDE
ALPHA GFG RIGHT GRIPPER PROTECT PLATE
ALPHA GFG RIGHT GRIPPER RELEASER

ALPHA GFG RIGHT GRIPPER SHORT GUIDE
ALPHA GFG RIGHT GRIPPER SPRING

ALPHA LEFT GRIPPER

ALPHA LEFT GRIPPER BODY

ALPHA LEFT GRIPPER BOTTOM WEFT HOLDING
ALPHA LEFT GRIPPER LAMEL

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN01948-WZ
SN01949-Wz
SN01950-WZ
SN01951-WZ
SN01952-WZ
SN01953-WZ
SN01954-WZ
SN01955-WZz
SN01956-WZ
SN01957-WZ
SN01958-Wz
SN01959-WZ
SN01960-WZ
SN01961-WZ
SN01962-WZ
SN01963-WZ
SN01964-WZ
SN01965-WZ
SN01966-WZ
SN01967-WZ
SN01968-WZ
SN01969-WZ
SN01970-WZz
SNO1971-WZz

ALFALOZ2

ALFALOS

ALFALOG6

ALFALO9

ALFALO7

ALFALO3
ALFAROO
ALFARO1
ALFARO3
ALFARO2
ALFARO8
ALFARO5
ALFARO4
ALFARO9
ALFAROQ7
ALFAROG6
ALFAR11
ALFAR10
0040009/0100003
9120044

2548260

2147028
2563116/2563126
2523014TG/2523006TF

WWW.SINOTEXTILEMACHINERY.COM

ALPHA LEFT GRIPPER LEVER

ALPHA LEFT GRIPPER PLASTIC PLATE

ALPHA LEFT GRIPPER PLASTIC PLATE

ALPHA LEFT GRIPPER PRESSURE LAMEL
ALPHA LEFT GRIPPER SPRING LAMEL

ALPHA LEFT GRIPPER TOP WEFT HOLDING
ALPHA RIGHT GRIPPER

ALPHA RIGHT GRIPPER BODY

ALPHA RIGHT GRIPPER LEVER

ALPHA RIGHT GRIPPER LEVER GUIDE

ALPHA RIGHT GRIPPER PIN FOR RELEASER
ALPHA RIGHT GRIPPER RELEASER WITH BUSH
ALPHA RIGHT GRIPPER SLIDER

ALPHA RIGHT GRIPPER SPRING

ALPHA RIGHT GRIPPER SPRING BACK SEAT
ALPHA RIGHT GRIPPER SPRING FRONT SEAT
ALPHA RIGHT GRIPPER WASHER FOR RELEASER
ALPHA RIGHT GRIPPER WASHER FOR SLIDER
C401

C401 LEFT GRIPPER

C401 LEFT GRIPPER BODY

C401 LEFT GRIPPER BUSH/P401 LEFT GRIPPER USHB
C401 LEFT GRIPPER CLAMP/P401 LEFT GRIPPER CLAMP
C401 LEFT GRIPPER HEAD/P401 LEFT GRIPPER HEAD

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN01972-WZ
SNO01973-WZ
SN01974-WZ
SN01975-WZ
SN01976-WZ
SN01977-WZ
SN01978-WZ
SN01979-WZz
SN01980-WZ
SN01981-WZ
SN01982-WZz
SN01983-WZz
SN01984-WZ
SN01985-WZz
SN01986-WZ
SN01987-WZ
SN01988-Wz
SN01989-WZ
SN01990-WZ
SN01991-WZz
SN01992-WZ
SN01993-WZ
SN01994-WZz
SN01995-WZ

2563020/2548260-6
2523004

2103006

2193156
9120043/9120066/9120006
2548220
2148162/V2148162
2550014
2522028TG/2522024TF
2550016TF/2550020TG
2150042/V2150042
2526124/2526174/V2526174
2148132/V2148132
2148176

2293020
0040004/0040002

71328H/71781L/71619C/71824C

71328L
322843
322844
342823/342825/342826
707873

71246V 71297P 71340N 71239X

71199G/71199H/71199K

WWW.SINOTEXTILEMACHINERY.COM

C401 LEFT GRIPPER PLATE/P401 LEFT GRIPPER PLATE
C401 LEFT GRIPPER RELEASER/P401 LEFT GRIPPER RELEA
C401 LEFT GRIPPER SLIDE/P401 LEFT GRIPPER SLIDE
C401 LEFT GRIPPER SPRING/P401 LEFT GRIPPER SPRING
C401 RIGHT GRIPPER

C401 RIGHT GRIPPER BODY

C401 RIGHT GRIPPER BUSH/P401 RIGHT GRIPPER BUSH
C401 RIGHT GRIPPER HEADP401 RIGHT GRIPPER HEAD
C401 RIGHT GRIPPER HOOK/P401 RIGHT GRIPPER HOOK
C401 RIGHT GRIPPER LEVER/P401 RIGHT GRIPPER LEVER
C401 RIGHT GRIPPER NUT/P401 RIGHT GRIPPER NUT
C401 RIGHT GRIPPER RELEASER/P401 RIGHT GRIPPER REL
C401 RIGHT GRIPPER SLIDE/P401RIGHT GRIPPER SLIDE
C401 RIGHT GRIPPER SPRING SEAT

C401 RIGHT GRIPPER SPRING/P401 RIGHT GRIPPER SPRIN
C401 SCREW

DORNIER HTV LEFT GRIPPER

DORNIER HTV LEFT GRIPPER BODY

DORNIER HTV LEFT GRIPPER CARBON SPRING

DORNIER HTV LEFT GRIPPER CARBON SPRING

DORNIER HTV LEFT GRIPPER CLAMP TUNSTEEN CARBIDE
DORNIER HTV LEFT GRIPPER CLAMPING BOLT

DORNIER HTV LEFT GRIPPER CLAMPING LEVER

DORNIER HTV LEFT GRIPPER HOOK

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN01996-WZzZ
SN01997-Wz
SN01998-WzZ
SN01999-Wz
SN02000-WZ
SN02001-Wz
SN02002-WzZ
SN02003-WZ
SN02004-WzZ
SN02005-Wz
SN02006-WZ
SN02007-WzZ
SN02008-WzZ
SN02009-WZ
SN02010-Wz
SN02011-Wz
SN02012-WZ
SN02013-Wz
SN02014-Wz
SN02015-WZ
SN02016-WZ
SN02017-Wz
SN02018-WZ
SN02019-WzZ

341167-1

341167-2

343827
345186/343743/345187/345188
769850

345444

410826

309758

322842

70681E

328321
PNO13215/PN0O13738/PNO13736
PNO34024

PNO88005-4

PNZ63214
PNO88005-3/PNO88005/PNO34024
PNO88005-1/PNO13764
PNO88005-2/PNO34024-1
PNQ55352/PNP55352
PNO88006-1/PNP51719
PNO88004
PNO88006-2/PN0O33827
PNO013827
PNO13432/PNO13862

WWW.SINOTEXTILEMACHINERY.COM

DORNIER HTV LEFT GRIPPER INNER BUSH TUNGETEN
DORNIER HTV LEFT GRIPPER OUT BUSH

DORNIER HTV LEFT GRIPPER PLASTIC FOAM
DORNIER HTV LEFT GRIPPER PROTECTOR
DORNIER HTV LEFT GRIPPER REGULATOR
DORNIER HTV LEFT GRIPPER SPACER FOR SPRING
DORNIER HTV LEFT GRIPPER SPACER FOR SPRING
DORNIER HTV LEFT GRIPPER SPECIAL SCREW M3X4
DORNIER HTV LEFT GRIPPER SPRING I

DORNIER HTV LEFT GRIPPER WEFT GUIDE
DORNIER HTV PEG

FAST LEFT GRIPPER

FAST LEFT GRIPPER BODY

FAST LEFT GRIPPER COVER

FAST LEFT GRIPPER G6300 RIGHT LATERAL PROTECTOR

FAST LEFT GRIPPER INNER BUSH

FAST LEFT GRIPPER LEVER

FAST LEFT GRIPPER OUT BUSH

FAST LEFT GRIPPER SPRING

FAST LEFT GRIPPER SPRING PLATE

FAST LEFT GRIPPER SPRING SEAT

FAST LEFT GRIPPER SUPPORT FOR SPRING PLATE
FAST RIGHT GRIPPER

FAST RIGHT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02020-Wz
SN02021-Wz
SN02022-Wz
SN02023-WzZ
SN02024-WZ
SN02025-Wz
SN02026-WZ
SN02027-WZz
SN02028-WzZ
SN02029-WzZ
SN02030-WZz
SN02031-Wz
SN02032-WZz
SN02033-WZ
SN02034-WzZ
SN02035-WzZ
SN02036-WZ
SN02037-WZzZ
SN02038-WzZ
SN02039-WZ
SN02040-WzZ
SN02041-Wz
SN02042-WZ
SN02043-Wz

PN035019
PNO88002-2/PNO60136
PNO88003-3
PNO88003-1/PNZ63265
PNO53872/PNO52167
PNO88002-3/PNO34060
PNO88003-4
PNO88002-1/PNO52217
PNO88001-2
PNO88001-3
PNO55359/PNP55359
PNO88001-1
PNO88003-2/PNO36405
614902000

917651364

917651365

PQZ63405

PQR37653/1

PQO13800
PQO13800/2P
PQO13801/01
PQZ63407

PQO52158

PNO13826

WWW.SINOTEXTILEMACHINERY.COM

FAST RIGHT GRIPPER BODY

FAST RIGHT GRIPPER BUSH

FAST RIGHT GRIPPER INNER BUSH
FAST RIGHT GRIPPER LAMELLE
FAST RIGHT GRIPPER LEVER

FAST RIGHT GRIPPER OUT BUSH ALSO FOR G6300 RIGHT

FAST RIGHT GRIPPER OUT SLEEVE

FAST RIGHT GRIPPER RELEASER

FAST RIGHT GRIPPER SCREW

FAST RIGHT GRIPPER SCREW

FAST RIGHT GRIPPER SPRING

FAST RIGHT GRIPPER SPRING SEAT

FAST RIGHT GRIPPER SUPPORT FOR LAMEL
G6100 GRIPPER SPARE PART FOR GRIPPER
G6100 LEFT GRIPPER WHITE

G6100 RIGHT GRIPPER

G6300 F LEFT GRIPPER BOTTOM PLATE
G6300 F LEFT GRIPPER WEFT GUIDE

G6300 F LEFT GRIPPER/GS900 F LEFT GRIPPER
G6300 F LEFT GRIPPER/GS900 LEFT GRIPPER
G6300 F RIGHT GRIPPER BODY

G6300 F RIGHT GRIPPER BOTTOM PLATE
G6300 F RIGHT GRIPPER RELEASER

G6300 LEFT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02044-WZ
SN02045-WZ
SN02046-WZ
SN02047-WZ
SN02048-WZ
SN02049-WZ
SN02050-WZ
SN02051-WZ
SN02052-WZ
SN02053-WZ
SN02054-WZ
SN02055-WZ
SN02056-WZ
SN02057-WZ
SN02058-WZ
SN02059-WZ
SN02060-WZ
SN02061-WZ
SN02062-WZ
SN02063-WZ
SN02064-WZ
SN02065-WZ
SN02066-WZ
SN02067-WZ

PNO65016
PNP51786
PNQ35004-1
PNO52241
FGA14003
PNQ35004-2
PRR80223
PRR80224
PNQ83556
PNO14180
PNR37657
PNO13827
PNO35019
PNZ63382
PNO53905
PNP63402
PNO522170
PNQ34060-1
PNQ34060-2
PNQ83514
PNQ83525
PNP55378
PNO364050
BA215510

WWW.SINOTEXTILEMACHINERY.COM

G6300 LEFT GRIPPER BODY

G6300 LEFT GRIPPER CLIP

G6300 LEFT GRIPPER INNER BUSH TUNSTEEN CARBIDE
G6300 LEFT GRIPPER LEVER

G6300 LEFT GRIPPER NUT

G6300 LEFT GRIPPER OUT BUSH TUNSTEEN CARBIDE
G6300 LEFT GRIPPER ROUND HEAD SCREW

G6300 LEFT GRIPPER SCREW

G6300 LEFT GRIPPER SCREW FOR LEVER

G6300 LEFT GRIPPER SPRING

G6300 LEFT GRIPPER WEFT GUIDE

G6300 RIGHT GRIPPER

G6300 RIGHT GRIPPER BODY

G6300 RIGHT GRIPPER LAMEL

G6300 RIGHT GRIPPER LEVER

G6300 RIGHT GRIPPER PLATE

G6300 RIGHT GRIPPER RELEASER

G6300 RIGHT GRIPPER SMALL INNER BUSH TUNSTEEN CARB
G6300 RIGHT GRIPPER SMALL OUT BUSH TUNSTEEN CARBID
G6300 RIGHT GRIPPER SPECIAL SCREW

G6300 RIGHT GRIPPER SPECIAL SCREW

G6300 RIGHT GRIPPER SPRING

G6300 RIGHT GRIPPER SUPPORT

GAMMA RIGHT RELEASE PLATE

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02068-WZ
SN02069-WZ

SN02070-WZ

SN02071-WZ
SN02072-WZ
SN02073-WZ
SN02074-WZ
SN02075-WZ
SN02076-WZ
SN02077-WZ
SN02078-WZ
SN02079-WZ
SN02080-WZ
SN02081-WZ
SN02082-WZ
SN02083-WZ
SN02084-WZ
SN02085-WZ
SN02086-WZ
SN02087-WZ
SN02088-WZ
SN02089-WZz
SN02090-WZ

BE2123419000
BA216082

BA216691

BE216813
BA216662/BE216662
BA216661

BA216842

BA216200

BA216809

BE216734

BA216735

BE216733

BE216823
BE206165/BE208030220
BE212503

BA207738

BE212314
BA208097/BA207352
BA204334

GB822-88

BA208674

BA207848
BE206132/BE208791340

WWW.SINOTEXTILEMACHINERY.COM

GAMMAZ000 LEFT GRIPPER

GAMMAZ2000 LEFT GRIPPER CARBON PLATE SINGLE EDEGE

GAMMAZ2000 RIGHT GRIPPER BOTTOM PLATE/GAMMAX
RIGHT

GAMMAZ002 LEFT GRIPPER

GAMMAZ2002 LEFT GRIPPER BODY

GAMMAZ2002 LEFT GRIPPER BOTTOM PLATE DOUBLE EDGES
GAMMAZ2002 LEFT GRIPPER BOTTOM PLATE SINGLE EDGE
GAMMAZ002 LEFT GRIPPER CLAMPING

GAMMAZ002 LEFT GRIPPER SUPPORT

GAMMAZ2002 RIGHT GRIPPER

GAMMAZ002 RIGHT GRIPPER BODY

GAMMAZ2002 RIGHT GRIPPER HOOK WITH SLEEVE
GAMMAZ2002 RIGHT GRIPPER LEVER WITH LEVER
GAMMAQ9S8 LEFT GRIPPER

GAMMAS98 LEFT GRIPPER

GAMMAQ98 LEFT GRIPPER BODY

GAMMAQS8 LEFT GRIPPER BOTTOM PLATE

GAMMAQ98 LEFT GRIPPER CARBON SUPPORT

GAMMAQ9S8 LEFT GRIPPER CLAMPING LEVER

GAMMAQ9S8 LEFT GRIPPER HEXAGON SCREW

GAMMAQ98 LEFT GRIPPER INOX PROTECTOR

GAMMASS8 LEFT GRIPPER WEFT GUIDE

GAMMAZ98 RIGHT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS RAPIER GRIPPER HEAD

SN02091-WZ  BA205749 GAMMAJ8 RIGHT GRIPPER BODY
SN02092-WZ  BA208098/BA207353 GAMMA98 RIGHT GRIPPER CARBON SUPPORT

SNO2O9IWZ  BE2OSST0/BE207449 ﬁAI\/II\/IA98 RIGHT GRIPPER HOOK/GAMMAQ9 RIGHT GRIPPER
SN02094-WZ  BE206889/BE207507 GAMMA98 RIGHT GRIPPER LEVER/GAMMAQ9 RIGHT GRIPPER
SN02095-WZ  BE203600/BE203500 GAMMAJ8 RIGHT GRIPPER PIN/GAMMAQ9 RIGHT GRIPPER P
SNO2OSE-WZ  BA2OB123/BA208132 §S¥g§$8 RIGHT GRIPPER PROTECTOT FOR CARBON
SN02097-WZ  BE209963 GAMMA98 RIGHT GRIPPER RELEASER WITH BUSH
SN02098-WZ  BA203133/BA203131 GAMMA98 RIGHT GRIPPER SPRING GAMMA99 RIGHT GRIPPER
SN02099-WZ  BA205193 GAMMAJ8 RIGHT GRIPPER SPRING SEAT/GAMMA99 RIGHT GR
SN02100-WZ  BA205194 GAMMA98 RIGHT GRIPPER SPRING SEAT/GAMMA99 RIGHT GR
SN02101-WZ  BE204350 GAMMA98 RIGHT GRIPPER SPRING SET

SN02102-WZ  BE203357 GAMMA98 RIGHT GRIPPERPLATE

SN02103-WZ ~ BA207737/BA212287 GAMMA99 LEFT GRIPPER BODY

SN02104-WZ  BE214563/BA212224/BA212314 GAMMA99 LEFT GRIPPER BOTTOM PLATE DOUBLE EDEGES
SN02105-WZ  BA214559 GAMMA99 LEFT GRIPPER BOTTOM PLATE SINGLE EDEGE
SN02106-WZ  BA207554/BA204716/BA212500 GAMMA99 LEFT GRIPPER CLAMP/GAMMA2000 LEFT GRIPPER
SN02107-WZ  BA200899 GAMMA99 LEFT GRIPPER RAMPER/GAMMA2000 LEFT GRIPPER
SN02108-WZ  GB65-85 GAMMA99 LEFT GRIPPER SCREW M2+7(3). M2*5(2)
SN02109-WZ  B160088 GAMMA99 LEFT GRIPPER SPRING WASHER

SN02110-WZ  BA212222/BA213730/BA214558 GAMMA99 LEFT GRIPPER SUPPOR/GAMMA2000 LEFT GRIPPER
SN02111-WZ  BE210208 GAMMA99 LEFT GRIPPER WEFT GUIDE

SN02112-WZ  BE212374190/BE212503/BE206167 ~ GAMMAQ9 LEFT GRIPPER/BE21234190

SN02113-WZ  BA205901/BA203775 GAMMA99 LWFT GRIPPER LEVER/GAMMA2000 LEFT

WWW.SINOTEXTILEMACHINERY.COM MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

SN02114-WZ
SN02115-WZ
SN02116-WZ
SN02117-WZ
SN02118-WZ
SN02119-WZ
SN02120-WZ
SN02121-WZ
SN02122-WZ
SN02123-WZ
SN02124-WZ
SN02125-WZ
SN02126-WZ
SN02127-WZ
SN02128-WZ
SN02129-WZ
SN02130-WZz
SN02131-WZ
SN02132-WZ
SN02133-WZ
SN02134-WZ
SN02135-WZ
SN02136-WZ
SN02137-WZ

BA203455
BE210790190/BE210503
BA210480
BE212276/BA210860
BA210704/BE210704
GB819-85

BA210208

BA204350
BE152624/BE212080/BA218086
BA214104/BA219737/BA210737
BA210822

BA212980

BA212979

BA211651
BA211650/BA211651
BA210784
BE214405/BA219837
BA211327/BA215921
BE211327

BA209066

BA209067
BE213973/BE207449
BA209067-1
BA209067-2

WWW.SINOTEXTILEMACHINERY.COM

GAMMAQ99 RIGH GRIPPER PRESSER/GAMMA98 RIGH GRIPPER

GAMMAS99 RIGHT GRIPPER
GAMMAZ99 RIGHT GRIPPER BODY

GAMMAQ99 RIGHT GRIPPER BOTTOM PLATE DOUBLE EDGES
GAMMAQ99 RIGHT GRIPPER BOTTOM PLATE SINGLE EDGE
GAMMAZ99 RIGHT GRIPPER GRIPPERM2+4(2). M2.5+5

GAMMAZ99 RIGHT GRIPPER HOOK
GAMMAZ99 RIGHT GRIPPER SPRING SET
GAMMAFF LEFT GRIPPER

GAMMAFF LEFT GRIPPER BODY

GAMMAFF LEFT GRIPPER BOTTOM PLATE
GAMMAFF LEFT GRIPPER LAMEL
GAMMAFF LEFT GRIPPER LEVER

GAMMAFF LEFT GRIPPER PRESSURE LAMEL
GAMMAFF LEFT GRIPPER RELEASER
GAMMAFF LEFT GRIPPER WEFT GUIDE
GAMMAFF RIGHT GRIPPER

GAMMAFF RIGHT GRIPPER BODY
GAMMAFF RIGHT GRIPPER BODY
GAMMAFF RIGHT GRIPPER BOTTOM PLATE

RAPIER GRIPPER HEAD

GAMMAFF RIGHT GRIPPER HARD FULCRU TUNSTEEN CARBIDE

GAMMAFF RIGHT GRIPPER HOOK
GAMMAFF RIGHT GRIPPER INNER BUSH
GAMMAFF RIGHT GRIPPER OUT BUSH

MOBILE/WHATSAPP: +86-18058173515




SINOTETILE SPARE PARTS

SN02138-WZ
SN02139-WZz
SN02140-WZ
SN02141-WZ
SN02142-WZ
SN02143-WZ
SN02144-WZ
SN02145-WZ
SN02146-WZ
SN02147-WZ
SN02148-WZ
SN02149-WZ
SN02150-WZ
SN02151-WZ
SN02152-WZ
SN02153-WZ
SN02154-WZ
SN02155-WZ
SN02156-WZ
SN02157-WZ
SN02158-WZ
SN02159-WZ
SN02160-WZ
SN02161-WZ

BA208513/BA205813
BA209132/BE209132
BE210222
BA207296
BE217721/BE221789
BE211337/BE217727
BA215920
BA206889
BA215995
BA215994
BA214065
BA220773
BE220922
BA221668
BE819390
BE81939/BE81497
BEB1936

B85524

B87053

BEB1496

A01015
BE81496/BE81323
BO1012
B87107/B85525

WWW.SINOTEXTILEMACHINERY.COM

GAMMAFF RIGHT GRIPPER PRESSER

GAMMAFF RIGHT GRIPPER PRESSURE LAMEL

GAMMAFF RIGHT GRIPPER RELEASER
GAMMAFF RIGHT GRIPPER SPECIAL SCREW
GAMMAFF-2005 LEFT GRIPPER
GAMMAFF-2005 RIGHT GRIPPER

GAMMAFF-2005 RIGHT GRIPPER BOTTOM PLATE

GAMMAFF-2005 RIGHT GRIPPER LEVER

GAMMAFF-2005 RIGHT GRIPPER PIN TUNSTEEN CARBIDE

GAMMAFF-2005 RIGHT GRIPPER PRESSER

GAMMAFF-2005 RIGHT GRIPPER PRESSURE LAMEL

GAMMAX BACK OF RIGHT GRIPPER
GAMMAX KEEPER OF RIGHT GRIPPER
GAMMAX RIGHT GRIPPER

GTM LEFT GRIPPER

GTM LEFT GRIPPER AND LEVER WITH WIRE
GTM LEFT GRIPPER BODY PLATE TYPE
GTM LEFT GRIPPER FRONT CLAMP
GTM LEFT GRIPPER INNER BUSH

GTM LEFT GRIPPER LEVER WITH WIRE
GTM LEFT GRIPPER OUT BUSH

GTM LEFT GRIPPER PLATE TYPE LEVER

GTM LEFT GRIPPER PROTECTOR FOR SUPPORT

GTM LEFT GRIPPER REAR CLAMP

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02162-WZ
SN02163-WZ
SN02164-WZ
SN02165-WZ
SN02166-WZ
SN02167-WZ
SN02168-WZ
SN02169-WZ
SN02170-WZ
SN02171-WZ
SN02172-WZ
SN02173-WZ
SN02174-WZ
SN02175-WZ
SN02176-WZ
SN02177-WZ
SN02178-WZ
SN02179-WZ
SN02180-WZ
SN02181-WZ
SN02182-WZ
SN02183-WZ
SN02184-WZ
SN02185-WZ

A01007/B86515/B89191
B80738
B81614
B52570/B82570
B80867
A01010
A01012
B87054
BE81961
BEB0900
BEB0904
BE81820/BE81100
BE81820-1
BEB1813
BES0901
B84702-1
BE81492
B84702-2
A02020
B02021
B82516
B85752

B85751
A02021

WWW.SINOTEXTILEMACHINERY.COM

GTM LEFT GRIPPER RELEASER

GTM LEFT GRIPPER SPRING

GTM LEFT GRIPPER SPRING SEAT

GTM LEFT GRIPPER SUPPORT

GTM LEFT GRIPPER SUPPORT ALLIUMINUM BLOCK
GTM LEFT GRIPPER SUPPORT LATERAL PROTECT
GTM LEFT GRIPPER SUPPORT LATERAL PROTECTE
GTM LEFT GRIPPER WASHER

GTM LEFT GRIPPER+TAPE SUPPOT SET

GTM LHS GRIPPER HOLDER-COMPLETE

GTM RHS GRIPPER HOLDER-COMPLETE

GTM RIGHT GRIPPER

GTM RIGHT GRIPPER AND LEVER WITH WIRE
GTM RIGHT GRIPPER BODY

GTM RIGHT GRIPPER BODY WITH SLOT

GTM RIGHT GRIPPER INNER BUSH

GTM RIGHT GRIPPER LEVER

GTM RIGHT GRIPPER OUT BUSH

GTM RIGHT GRIPPER PROTECT PLANK

GTM RIGHT GRIPPER PROTECTOR FOR SUPPORT
GTM RIGHT GRIPPER SPECIAL SCREW

GTM RIGHT GRIPPER SPRING

GTM RIGHT GRIPPER SPRING SEAT

GTM RIGHT GRIPPER SUPPORT LATERAL PROTECT PLATE

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02186-WZ
SN02187-WZ
SN02188-WZ
SN02189-WZ
SN02190-WZ
SN02191-WZ
SN02192-WZ
SN02193-WZ
SN02194-WZ
SN02195-WZ
SN02196-WZ
SN02197-WZ
SN02198-WZ
SN02199-WZz
SN02200-WZ
SN02201-WZ
SN02202-WZ
SN02203-WZ
SN02204-WZ
SN02205-WZ
SN02206-WZ
SN02207-WZ
SN02208-WZ
SN02209-WZz

A02022
B84467/B52569
B54135
BE53222/BE53230
B54157/B54159
B52945

B87598
BEB2739
B88454

B87599

B53517
B54158/B54757
B54145
BEB2519
B87596

B87597
B53402/B52373
B54637

B53051
BE82977/B53268/BE81922
BE54151/B54151
B88448
BEB2972
B87611

WWW.SINOTEXTILEMACHINERY.COM

GTM RIGHT GRIPPER SUPPORT LATERAL PROTECT PLATE
GTM RIGHT GRIPPER+TAPE SUPPORT

GTMAS CONNECTING PIECE

GTMAS LEFT GRIPPER

GTMAS LEFT GRIPPER BODY

GTMAS LEFT GRIPPER BOTTOM/GTX LEFT GRIPPER BOTTOM
GTMAS LEFT GRIPPER INNER BUSH/GTX LEFT GRIPPER BUS
GTMAS LEFT GRIPPER LEVER/GTX LEFT GRIPPER LEVER
GTMAS LEFT GRIPPER NUT/GTX LEFT GRIPPER NUT

GTMAS LEFT GRIPPER OUT BUSH/GTX LEFT GRIPPER OUT B
GTMAS LEFT GRIPPER PRESSURE LAMEL

GTMAS LEFT GRIPPER PROTECT/GTX LEFT GRIPPER PROTEC
GTMAS LEFT GRIPPER PTOTECTOR/GTX LEFT GRIPPER PROT
GTMAS LEFT GRIPPER RELEASER/GTX LEFT GRIPPER RELEA
GTMAS LEFT GRIPPER SPRING SEAT/GTX LEFT GRIPPER SP
GTMAS LEFT GRIPPER SPRING/GTX LEFT GRIPPER SPRING
GTMAS LEFT GRIPPER WEFT HOLDER

GTMAS LEFT GRIPPER+TAPE SUPPORT

GTMAS LEFT LATERAL PROTECTOR FOR SUPPORT

GTMAS RIGHT GRIPPER

GTMAS RIGHT GRIPPER BODY/GTX RIGHT GRIPPER BODY
GTMAS RIGHT GRIPPER INNER BUSH/GTX RIGHT GRIPPER
GTMAS RIGHT GRIPPER LEVER/GTX RIGHT GRIPPER LEVER
GTMAS RIGHT GRIPPER OUT BUSH/GTX RIGHT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02210-WZ
SN02211-WZ
SN02212-WZ
SN02213-WZ
SN02214-WZ
SN02215-WZ
SN02216-WZ
SN02217-WZ
SN02218-WZ
SN02219-WZ
SN02220-WZ
SN02221-WZ
SN02222-WZ
SN02223-WZ
SN02224-WZ
SN02225-WZ
SN02226-WZ
SN02227-WZ
SN02228-WZ
SN02229-WZ
SN02230-WZ
SN02231-WZ
SN02232-WZ
SN02233-WZ

B87654/B87614/B87615
B54638

B88639

B54121

B54512
BE53230/B53187
B54159/B54157
BE53402

BE53517

B54654
B52373/B53402
BE53236
B87614/B87654/B87615
B54653
732-17-541-00
732-17-542-01
91203421

2523188

9120381
2563448/2563570
2113036

2193460
2563470/2563436/9120370.1
9120321

WWW.SINOTEXTILEMACHINERY.COM

GTMAS RIGHT GRIPPER SPRING
GTMAS RIGHT GRIPPER TAPE SUPPORT

GTMAS RIGHT GRIPPER WEFT GUIDE/GTX RIGHT GRIPPER

GTMAS RIGHT LATERAL PROTECT GRIPPER SUPPORT
GTX CONNECTING PIECE

GTX LEFT GRIPPER

GTX LEFT GRIPPER BODY

GTX LEFT GRIPPER CLAMP/GTMAS LEFT GRIPPER
GTX LEFT GRIPPER PRESSURE PLATE

GTX LEFT GRIPPER SUPPORT

GTX LEFT GRIPPERWEFT HOLDER

GTX RIGHT GRIPPER

GTX RIGHT GRIPPER SPRING

GTX RIGHT GRIPPER WEFT GUIDE

ISHIKAWA 2001 GIPPEER PARTS SLIDER JAW/GROVED
ISHIKAWA 2001 GIPPEER PARTS SWING LEVER

K88 LEFT GRIPPER

K88 LEFT GRIPPER BODY

K88 LEFT GRIPPER CLAMP WITHOUT GROOVE

K88 LEFT GRIPPER LAMELLE

K88 LEFT GRIPPER SCREW

K88 LEFT GRIPPER SPRING

K88 LEFT GRIPPER WEFT GUIDE/LEONARDO | LEFT GRI
K88 RIGHT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02234-WZ
SN02235-WZ
SN02236-WZ
SN02237-WZ
SN02238-WZ
SN02239-WZ
SN02240-WZ
SN02241-WZ
SN02242-WZ
SN02243-WZ
SN02244-WZz
SN02245-WZ
SN02246-WZ
SN02247-WZ
SN02248-WZ
SN02249-WZ
SN02250-WZ
SN02251-WZ
SN02252-WZ
SN02253-WZ
SN02254-WZ
SN02255-WZ
SN02256-WZ
SN02257-WZ

2548702

152002

9120338

9120319

2563422

2563448

2502160

2568064

2103016

2563438
2502158/9120338
2563436/2563470/9120370.1
2523178/9120343
9120312/9120321
2583064

2143044
2583106/2583102/2583104
2583098/2593098/2583099
2583100

2523156

2113026

2113022
2193464/2193460
2108004

WWW.SINOTEXTILEMACHINERY.COM

K88 RIGHT GRIPPER GUIDE PIECE

K88 RIGHT GRIPPER WASHER/P401 RIGHT GRIPPER WASHER
K88 RIGHT LEFT CLAMP WITH GROOVE

LEONARDO | LEFT GRIPPER

LEONARDO | LEFT GRIPPER CLAMPING LEVER

LEONARDO | LEFT GRIPPER ELEMENT

LEONARDO | LEFT GRIPPER HINGE

LEONARDO | LEFT GRIPPER LIMMIT/K88 LEFT GRIPPER S
LEONARDO | LEFT GRIPPER PIN

LEONARDO | LEFT GRIPPER PLATE TUNSTEEN CARBIDE
LEONARDO | LEFT GRIPPER RELEASER

LEONARDO | LEFT GRIPPER WEFT GUIDE

LEONARDO | LEFT GRIPPER/K88 LEFT GRIPPER SUPPORT
LEONARDO | RIGHT GRIPPER

LEONARDO | RIGHT GRIPPER BODY/K88 RIGHT GRIPPER BO
LEONARDO | RIGHT GRIPPER BUSH

LEONARDO | RIGHT GRIPPER CLAMP/K88 RIGHT GRIPPER C
LEONARDO | RIGHT GRIPPER HOOK/K88 RIGHT GRIPPER HO
LEONARDO | RIGHT GRIPPER LEVER/K88 RIGHT GRIPPER L
LEONARDO | RIGHT GRIPPER RELEASER

LEONARDO | RIGHT GRIPPER SCREW/K88 RIGHT GRIPPER S
LEONARDO | RIGHT GRIPPER SPECIAL SCREW

LEONARDO | RIGHT GRIPPER SPRING

LEONARDO | RIGHT GRIPPER SPRING SEAT

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02258-WZ
SN02259-WZ
SN02260-WZ
SN02261-WZ
SN02262-WZ
SN02263-WZ
SN02264-WZ
SN02265-WZ
SN02266-WZ
SN02267-WZ
SN02268-WZ
SN02269-WZ
SN02270-WZ
SN02271-WZ
SN02272-WZ
SN02273-WZ
SN02274-WZ
SN02275-WZ
SN02276-WZ
SN02277-WZ
SN02278-WZ
SN02279-WZ
SN02280-WZ
SN02281-WZ

9120319/9120342.1
2563446/2563570
9120321/9120328/9120326.2
2563442/2563476
2113032
2163436
2113034
2568094

641372
44359748
433727231
433727231
43358764
5945T240
40380757
59567246
5946T242
641971

642763

642350

621264

621327

621402

631712

WWW.SINOTEXTILEMACHINERY.COM

LEONARDO II LEFT GRIPPER
LEONARDO Il LEFT GRIPPER WEFT HOLDER
LEONARDO Il RIGHT GRIPPER

LEONARDO LEFT GRIPPER LAMEL/K88 LEFT GRIPPER LAMEL
LEONARDO LEFT GRIPPER SCREW/K88 LEFT GRIPPER SCREW

LEONARDO RH GRIPPER BODY
LEONARDO RIGHT GRIPPER SCREW M2X5.5

LEONARDOII LEFT GRIPPER RUBBER/K88 LEFT GRIPPER RU

MULLER II LEFT GRIPPER SPRING

MULLER II RIGHT GRIPPER

MULLER II RIGHT GRIPPER BODY

MULLER II RIGHT GRIPPER COVER

MULLER II RIGHT GRIPPER HOOK

MULLER II RIGHT GRIPPER LATERAL PROTECTOR
MULLER II RIGHT GRIPPER LEVER

MULLER II RIGHT GRIPPER NUT FOR FULCRUM
MULLER II RIGHT GRIPPER PIN TUNSTEEN CARBIDE
MULLER II RIGHT GRIPPER SPRING

MULLER Il LEFT GRIPPER SPRING

MULLER Il RIGHT CLAMP

MULLER Il RIGHT GRIPPER BODY

MULLER Il RIGHT GRIPPER COVER

MULLER Il RIGHT GRIPPER HOOK

MULLER [l RIGHT GRIPPER SPRING

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02282-WZ
SN02283-WZ
SN02284-WZ
SN02285-WZ
SN02286-WZ
SN02287-WZ
SN02288-WZ
SN02289-WZ
SN02290-WZzZ
SN02291-WZzZ
SN02292-WZ
SN02293-WZzZ
SN02294-WZzZ
SN02295-WZ
SN02296-WZ
SN02297-WZzZ
SN02298-WZ
SN02299-WZ
SN02300-Wz
SN02301-WZ
SN02302-WzZ
SN02303-Wz
SN02304-WZ
SN02305-WzZ

641041
9120236
9120117/912047
2536062
2548412
2583038

10005

2563154
2113014
2113012
2113008
2523100
2563222
9120118/9120250
2536052
2548406
2142020
2522074
9120250
2503088
2583032/2522076
2113004
2508058
2560108

WWW.SINOTEXTILEMACHINERY.COM

MULLER ILEFT GRIPPER WEFT GUIDE
P1001 GRIPPER LEVER

P1001 LEFT GRIPPER

P1001 LEFT GRIPPER BODY

P1001 LEFT GRIPPER CARBON WING
P1001 LEFT GRIPPER LAMEL

P1001 LEFT GRIPPER NUT

P1001 LEFT GRIPPER PLATE TUNSTEEN CARBIDE

P1001 LEFT GRIPPER SCREW M2X3.5
P1001 LEFT GRIPPER SCREW M2X6
P1001 LEFT GRIPPER SCREW M2X8
P1001 LEFT GRIPPER WEFT GUIDE
P1001 LEFT GRIPPER WEFT HOLDER
P1001 RIGHT GRIPPER

P1001 RIGHT GRIPPER BODY.

P1001 RIGHT GRIPPER CARBON WING
P1001 RIGHT GRIPPER FULCRUM
P1001 RIGHT GRIPPER HOOK

P1001 RIGHT GRIPPER Il

P1001 RIGHT GRIPPER LAMEL

P1001 RIGHT GRIPPER LEVER

P1001 RIGHT GRIPPER M2X3 SCREW
P1001 RIGHT GRIPPER PLASTIC SLEEVE

P1001 RIGHT GRIPPER RELEASER WITH BUSH

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02306-WZ
SN02307-WZ
SN02308-WZ
SN02309-WZ
SN02310-WZ
SN02311-WZ
SN02312-WZ
SN02313-WZ
SN02314-WZ
SN02315-WZ
SN02316-WZ
SN02317-WZ
SN02318-WZ
SN02319-WZ
SN02320-WZ
SN02321-WZ
SN02322-WZ
SN02323-WZ
SN02324-WZ
SN02325-WZ
SN02326-WZ
SN02327-WZ
SN02328-WZ
SN02329-WZ

2508022
380008
2560082
2548346
9120280/9120114/9120286
2548666
9120281/9120115
2548668
2690118
2501200
2503001
2503020
2503003
2501213
2502002
2503015
2503008
2503012
2502003
2503010
2503009
2503105
7003120
2503011

WWW.SINOTEXTILEMACHINERY.COM

P1001 RIGHT GRIPPER RUBBER

P1001 RIGHT GRIPPER RUBBER RING FOR FULCRUM
P1001 RIGHT GRIPPER SPRING

P1001 RIGHT GRIPPER SPRING HOLDER
P401 LEFT GRIPPER

P401 LEFT GRIPPERR BODY

P401 RIGHT GRIPPER

P401 RIGHT GRIPPER BODY

P401 RIGHT GRIPPER NUT

PANTER LEFT GRIPPER

PANTER LEFT GRIPPER BODY

PANTER LEFT GRIPPER BOTTOM CLAMP
PANTER LEFT GRIPPER SPACER

PANTER RIGHT GRIPPER

PANTER RIGHT GRIPPER BODY

PANTER RIGHT GRIPPER FIXED PLATE
PANTER RIGHT GRIPPER GUIDE PIECE
PANTER RIGHT GRIPPER LAMEL
PANTER RIGHT GRIPPER LEVER

PANTER RIGHT GRIPPER RELEASER
PANTER RIGHT GRIPPER SLIDE

PANTER RIGHT GRIPPER SPACER
PANTER RIGHT GRIPPER SPRING
PANTER RIGHT GRIPPER SPRING HOLDER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02330-WZ
SN02331-WZ
SN02332-WZ
SN02333-WZ
SN02334-WZ
SN02335-WZ
SN02336-WZ
SN02337-WZ
SN02338-WZ
SN02339-WZ
SN02340-WZz
SN02341-WZ
SN02342-WZ
SN02343-WZ
SN02344-WZ
SN02345-WZ
SN02346-WZ
SN02347-WZ
SN02348-WZ
SN02349-WZ
SN02350-WZ
SN02351-WZ
SN02352-WZ
SN02353-WZ

2503002
BE71774/BES0758/B71774/BE50845
B74494
BE71851/BE71853
B70976

B72691

B74312

BE71746

B72692

B71317

B74689

BE71863
BE72082/BES0756/B72082/BE71766
B76002

BE72087
B6004/B6005
B70965

B72935

B71749

BE71855

B74757

B70964

B76009

B72937

WWW.SINOTEXTILEMACHINERY.COM

PANTER/C401/P401 LEFT GRIPPER TOP CLAMP

PGW I LEFT GRIPPER

PGW | LEFT GRIPPER BACK PLATE

PGW | LEFT GRIPPER BODY

PGW | LEFT GRIPPER BUSH

PGW | LEFT GRIPPER HOOK

PGW | LEFT GRIPPER LAMEL

PGW I LEFT GRIPPER LEVER

PGW | LEFT GRIPPER PROTECTOR

PGW | LEFT GRIPPER SPECIAL SCREW

PGW | LEFT GRIPPER SPRING

PGW | RIGHT GRIPPER

PGW | RIGHT GRIPPER

PGW | RIGHT GRIPPER BACK PLATE/PGW Il RIGHT GRIPPE
PGW | RIGHT GRIPPER BODY/PGW Il RIGHT GRIPPER BODY
PGW | RIGHT GRIPPER BUSH/PGW Il RIGHT GRIPPER BUSH
PGW | RIGHT GRIPPER HEAD/PGW II RIGHT GRIPPER HEAD
PGW | RIGHT GRIPPER LAMEL 1/PGW II RIGHT GRIPPER L
PGW | RIGHT GRIPPER NYLON CONNECTOR R0O2

PGW | RIGHT GRIPPER PART/PGW Il RIGHT GRIPPER PART
PGW | RIGHT GRIPPER PIN/PGW II RIGHT GRIPPER PIN
PGW | RIGHT GRIPPER PRESSER/PGW II RIGHT GRIPPER P
PGW | RIGHT GRIPPER SEAT/PGW Il RIGHT GRIPPER SEAT
PGW | RIGHT GRIPPER SPRING PLATE-3

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02354-WZ
SN02355-WZ
SN02356-WZ
SN02357-WZ
SN02358-WZ
SN02359-WZ
SN02360-WZ
SN02361-WZ
SN02362-WZ
SN02363-WZ
SN02364-WZ
SN02365-WZ
SN02366-WZ
SN02367-WZ
SN02368-WZ
SN02369-WZ
SN02370-WZ
SN02371-WZ
SN02372-WZ
SN02373-WZ
SN02374-WZ
SN02375-WZ
SN02376-WZ
SNO2377-WZ

B72938

B76003
BE71339
BE72082.
BA205893
2536058
844556

845319
847115/845083
847143/845313
844785
847138.1/842005/844023
845088

845089
847267/845084
847140/841613
502008/502 008
502 005/502005
502237/502 237
502046/502 046
253184/253 184
844794/844 794
845138/845 138
502035/502 035

WWW.SINOTEXTILEMACHINERY.COM

PGW | RIGHT GRIPPER SPRING PLATE-4

PGW | RIGHT GRIPPER SUPPORT/PGW Il RIGHT GRIPPER S

PGW II LEFT GRIPPER

PGW Il RIGHT GRIPPER

PICANOL SPACER OF GAMMA99/98 GRIPPER
RH P1001 GRIPPER BODY

S-400 BODY OF RECEIVING GRIPPER

S-400 INSERTION GRIPPER

S-400 INSERTION GRIPPER SPRING

S-400 PART OF GRIPPER

S-400 RECEIVING GRIPPER

S-400 SLEEVE

S-400 SLEEVE OF SPRING

S-400 SLEEVE OF SPRING

S-400 SPRING OF INSRTION GRIPPER

S-400 YARN PRESSOR

SARURER350 GRIPPER MOVABLE BLADE
SAURER350 COMPLETE INSERTION GRIPPER
SAURER350 COMPLETER RECEIVING GRIPPER
SAURER350 GRIPPER PLATE

SAURER350 GRIPPER TONGUE

SAURER400 GRIPPER AXLE

SAURER400 GRIPPER BLOCK

SAURER400 GRIPPER HOOK LEVER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02378-WZ
SN02379-WzZ
SN02380-WZ
SN02381-WZzZ
SN02382-WZ
SN02383-WZ
SN02384-WZ
SN02385-WZ
SN02386-WZ
SN02387-WZzZ
SN02388-WZ
SN02389-WZ
SN02390-WzZ
SN02391-WZz
SN02392-WZzZ
SN02393-WzZ
SN02394-WZz
SN02395-WzZ
SN02396-WzZ
SN02397-WZ
SN02398-WzZ
SN02399-WZzZ
SN02400-WZ
SN02401-WzZ

845619
847151/SD400L00
847497
846190/846 190
847153
845698/845 698
AN1203A
23-A1A317A
EDLO45A
20-EDLOOPA
E3STS503A
EDLO44B
EN1015A
AN1202A
EPS292A
A2A062A
EDLOO9A
EMOO3A
VG16000/VG13503
EDLO10A
EDLO47A
ADL106B
EN1003B/ENIO03A
VVv21010

WWW.SINOTEXTILEMACHINERY.COM

SAURER400 LEFT GRIPPER
SAURER400 LEFT GRIPPER
SAURER400 LEFT GRIPPER BODY
SAURER400 OUTTER HOLDER
SAURER400 RIGHT GRIPPER
SAURER400 RING

SM93 LEFT GRIPPER

SM93 LEFT GRIPPER CLAMP

SM93 LEFT GRIPPER HEAD

SM93 LEFT GRIPPER LEVER

SM93 LEFT GRIPPER SCREW

SM93 LEFT GRIPPER SCREW

SM93 LEFT GRIPPER SCREW

SM93 RIGHT GRIPPER

SM93 RIGHT GRIPPER CUSHION
SM93 RIGHT GRIPPER LEVER

SM93 RIGHT GRIPPER LONG SPRING
SM93 RIGHT GRIPPER PROTECTOR
SM93 RIGHT GRIPPER RUBBER RING
SM93 RIGHT GRIPPER SHORT SPRING
SM93 RIGHT GRIPPER WEFT GUIDE
SM93 RIGHT GRIPPERR HOOK

SM93 SIDE PLATE

SM93/TM11E SCREW FOR TAPE GUIDE HOOK

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02402-WZ
SN02403-WZ
SN02404-WZ
SN02405-WZ
SN02406-WZ
SN02407-WZ
SN02408-WZ
SN02409-WZz
SN02410-WZ
SN02411-WZ
SN02412-WZ
SN02413-WZ
SN02414-WZ
SN02415-WZ
SN02416-WZ
SN02417-WZ
SN02418-WZ
SN02419-WZ
SN02420-WZ
SN02421-WZ
SN02422-WZ
SN02423-WZ
SN02424-WZ
SN02425-WZ

HDLO65B
BDL316F/BDL316/BDL311E/BDL383
HDLOS52A

EDLO59A

HDLO17A
HDLO17A
HDLOS4A
HDCO045B
HDLO55C
HDLO53A/HDLO53B
EDLO33B

EDL108A

HDLOS6A

HDLOS7A

HDLO77A
BDL103A-2
HDLOO4A

BDL110B

THEMA11E GIIDE BLOCK =B11

THEMAI1E LEFT GRIPPER

THEMA11E LEFT GRIPPER ADJUST PIECE
THEMA11E LEFT GRIPPER BOTTOM PLATE
THEMAI1E LEFT GRIPPER BOTTOM PLATE
THEMA11E LEFT GRIPPER BOTTOM PLATE
THEMA11E LEFT GRIPPER BRASS STOPPER
THEMAI1E LEFT GRIPPER PC

THEMA11E LEFT GRIPPER PLASTIC FOAM
THEMA11E LEFT GRIPPER PLASTIC PART
THEMAI1E LEFT GRIPPER SCREW
THEMA11E LEFT GRIPPER SCREW
THEMA11E LEFT GRIPPER SCREW
THEMAI1E LEFT GRIPPER SCREW
THEMA11E LEFT GRIPPER SPACER
THEMA11E OUT SIDE BUSH OF RIGHT GRIPPER
THEMA11E PULLING PLATE=R0O7
THEMA11E PUSHING LEVER FRONT GUIDE

BDL324E/BDL325E/BDL324F/BDL384 THEMA1LE RIGHT GRIPPER

BDLO17A

HDLO47A

VR14005

BDL116B/BDL143A
BDL109A/BDL109B/BDL1098B

WWW.SINOTEXTILEMACHINERY.COM

THEMAI1E RIGHT GRIPPER BOTTOM PLATE

THEMA11E RIGHT GRIPPER BOTTOM PLATE

THEMA11E RIGHT GRIPPER BRASS WASHER

THEMA11E RIGHT GRIPPER CLAMP FOR FINE YARN
THEMAI1E RIGHT GRIPPER CLAMPING FOR GROS YARN

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02426-WZ
SN02427-WZ
SN02428-WZ
SN02429-WZ
SN02430-WZ
SN02431-WZ
SN02432-WZ
SN02433-WZ
SN02434-WZ
SN02435-WZ
SN02436-WZ
SN02437-WZ
SN02438-WZ
SN02439-WZ
SN02440-WZ
SN02441-WZ
SN02442-WZ
SN02443-WZ
SN02444-WZ
SN02445-WZ
SN02446-WZ
SN02447-WZ
SN02448-WZ
SN02449-WZz

BDL108B

BDL103A-1
BDLO39A/EDLO53B
HDLO39A
HDLOS05A
HDLOG5A

HDL110B

BDL102A

HDLO21A

BDL103A

BDL103B

HDLOS8A

EDL126A

EDLO63A

A1A613C

BDLOO4A
BDLO60C/EDLO60C/HDL135A
HDLO64A/HDLOG9A
HDL131A

HDL261A

LEDL28A

LADLO2A
LADLODBO/BDL311EO
BDL324EO/LDLO5BO

WWW.SINOTEXTILEMACHINERY.COM

THEMA11E RIGHT GRIPPER HOOK
THEMAI1E RIGHT GRIPPER INNER BUSH

THEMA11E RIGHT GRIPPER LATERAL PROTECTOR
THEMA11E RIGHT GRIPPER LATERAL PROTECTOR

THEMA11E RIGHT GRIPPER LEVER
THEMA11E RIGHT GRIPPER LEVER GUIDE
THEMA11E RIGHT GRIPPER LEVER GUIDE
THEMAI1E RIGHT GRIPPER PIN

THEMA11E RIGHT GRIPPER PLASTIC WASHER
THEMA11E RIGHT GRIPPER RELEASER
THEMA11E RIGHT GRIPPER RELEASER
THEMA11E RIGHT GRIPPER SCREW
THEMA11E RIGHT GRIPPER SCREW FOR TAPE
THEMA11E RIGHT GRIPPER SCREW M2X6
THEMA11E RIGHT GRIPPER SLIDE

THEMA11E RIGHT GRIPPER SLIDE

THEMA11E RIGHT GRIPPER SPRING
THEMA11E RIGHT GRIPPER SPRING SEAT
THEMA11E RIGHT GRIPPER THREAD GUIDE

THEMAL1E-@ LEFT GRIPPER BOTTOM PRESSING PLATE
THEMA11E-@ LEFT GRIPPER SUPPORTING ARM
THEMA11E@ RIGHT GRIPPER CLIP FORFINE YARN

THEMAZI11E-A LEFT GRIPPER
THEMAI1E-A RIGHT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02450-WZ
SN02451-WZ
SN02452-WZ
SN02453-WZ
SN02454-WZ
SN02455-WZ
SN02456-WZ
SN02457-WZ
SN02458-WZ
SN02459-WZ
SN02460-WZ
SN02461-WZ
SN02462-WZ
SN02463-WZ
SN02464-WZ
SN02465-WZ
SN02466-WZ
SN02467-WZ
SN02468-WZ
SN02469-WZ
SN02470-WZ
SN02471-WZ
SN02472-WZ
SN02473-WZ

BDL311EOO/LADLODBOO
BDL324EOO/LADLO5BOO
HDL191A

BDL333C

HDL151C
HDL178B/HDL168B
HDL156A

HDL153B

HDL155A

HDL152B

BDL334C
BDLFO6A/HDL140A
BDL148A
BDLFO7B/BDLFO2A
HDL192A/HDL144A
HDL195A/HDL141A
BDL149A/BDL141A
HDL196A

HDL198A

HDL190A

HDL193A
ADL134A/EDL144A
HDL176A

BDL1168

WWW.SINOTEXTILEMACHINERY.COM

THEMA11E-B LEFT GRIPPER
THEMAI1E-B RIGHT GRIPPER

THEMA11ES RIGHT GRIPPER FRONT SPRING SEAT

THEMA11SE LEFT GRIPPER

THEMA11SE LEFT GRIPPER BODY
THEMA11SE LEFT GRIPPER BOTTOM CLIP
THEMA11SE LEFT GRIPPER POSITIONER
THEMAZI1SE LEFT GRIPPER RELEASER
THEMA11SE LEFT GRIPPER SPRING
THEMA11SE LEFT GRIPPER TOP CLIP
THEMA11SE RIGHT GRIPPER

THEMA11SE RIGHT GRIPPER BODY
THEMA11SE RIGHT GRIPPER FULCRUM
THEMAI1SE RIGHT GRIPPER LEVER
THEMA11SE RIGHT GRIPPER POSITIONING
THEMA11SE RIGHT GRIPPER PULLING BAR
THEMA11SE RIGHT GRIPPER RELEASER
THEMA11SE RIGHT GRIPPER SLIDE
THEMA11SE RIGHT GRIPPER SPRING

THEMA11SE RIGHT GRIPPER SPRING HOLDER

THEMA11SE RIGHT GRIPPER WASHER
TM11/TM11E GRIPPER PROTECTOR
TM11/TM11E RUBBER SHIM
TMEMAI1E RIGHT GRIPPER CLAMP

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02474-WZ
SN02475-WZ
SN02476-WZ
SN02477-WZ
SN02478-WZ
SN02479-WZ
SN02480-WZ
SN02481-WZz
SN02482-WZ
SN02483-WZ
SN02484-WZ
SN02485-WZ
SN02486-WZ
SN02487-WZz
SN02488-WZ
SN02489-WZ
SN02490-WZz
SN02491-WZ
SN02492-WZ
SN02493-WZ
SN02494-WZ
SN02495-WZ
SN02496-WZ
SN02497-WZ

PAS76872

PAS80690

PAO12538
PAO19157/PAO19158
PBO10136
PBO66002/PBQ71727
PAO19159/PAO19177
PAO71628/PAO71649/PAQ71628
PAP66187

PAO12538.

PAP86920
PBO101360
PBO14071
PBO10145/PBO10144
PBS71988
HLW250050070
PBS71988

PBO10339

PBS74718
PBO51730/PBP51739
PBO51739

PBO38906

PBO55293

PBO55316

WWW.SINOTEXTILEMACHINERY.COM

TP300 ALLUMINUM SUPPORT FOR RIGHT GRIPPER
TP300 GRIPPER SUPPORT

TP300 | LEFT GRIPPER

TP300 I LEFT GRIPPER SPRING SET

TP300 I RIGHT GRIPPER

TP300 I RIGHT GRIPPER BODY/TP300 Il RIGHT GRIPPER
TP300 | RIGHT GRIPPER LAMEL SET

TP300 I RIGHT GRIPPER LEVER/TP300 Il RIGHT GRIPPER
TP300 | RIGHT GRIPPER SLEEVE/TP300 Il RIGHT GRIPPE
TP300 Il LEFT GRIPPER

TP300 Il LEFT GRIPPER SCREW M2X8

TP300 Il RIGHT GRIPPER

TP300 LEFT GRIPPER ALLUMINUM GRIPPER SUPPORT
TP300 RECEIVING GRIPPER WITH SUPPORT

TP400 ALLUMINUM GRIPPER SUPPORT

TP500 GRIPPER SCREW M2.5X5

TP500 | GRIPPER SUPPORT

TP500 | LEFT GRIPPER

TP500 | LEFT GRIPPER BOTTOM PLATE

TP500 | LEFT GRIPPER BOTTOM WEFT HOLDER

TP500 | LEFT GRIPPER BOTTOM WEFT HOLDER

TP500 I LEFT GRIPPER COVER+CATCHER

TP500 I LEFT GRIPPER LAMEL/TP500 IIA LEFT GRIPPER
TP500 | LEFT GRIPPER LAMEL/TP500 IIA LEFT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02498-WZ
SN02499-WZ
SN02500-WZ
SN02501-WZ
SN02502-WZ
SN02503-WZ
SN02504-WZ
SN02505-WZ
SN02506-WZ
SN02507-WZ
SN02508-WZ
SN02509-WZ
SN02510-WZ
SN02511-WZ
SN02512-WZ
SN02513-WZ
SN02514-WZ
SN02515-WZ
SN02516-WZ
SN02517-WZ
SN02518-WZ
SN02519-WZ
SN02520-WZ
SN02521-WZ

FAP86859
HHA250080070
HAC020030070
PNX03032

PBP63772

PBP63719

PBS72064

PBO10497

PBP51747

PBP51748

PBO38933
HLW250060070
HHB020040050
PBS74727/PBO74732
FNX03032/FNC0100220070
PBP63874/PBP63940
PBO14877/PBO14799
PB0O57800
PBP51754/PBO51800
PBP38958/PBO38958
PBQ34024

PBP52288/PB052288/PB0O52369

PBZ33400/PBZ33384
HDBO030080070

WWW.SINOTEXTILEMACHINERY.COM

TP500 I LEFT GRIPPER SCREW
TP500 | LEFT GRIPPER SCREW

TP500 I LEFT GRIPPER SCREW/TP500 IIA LEFT GRIPPER

TP500 I LEFT GRIPPER WASHER

TP500 I LEFT GRIPPER WEFT GUIDE
TP500 | RIGHT GGRIPPER WASHER
TP500 Il GRIPPER SUPPORT

TP500 A LEFT GRIPPER

TP500 IIA LEFT GRIPPER CLIP

TP500 IIA LEFT GRIPPER CLIP

TP500 IIA LEFT GRIPPER COVER+CACHER
TP500 IIA LEFT GRIPPER SCREW M2.5X6
TP500 IIA LEFT GRIPPER SCREW M2X4
TP500 1A LEFT GRIPPER SUPPORT
TP500 1A LEFT GRIPPER WASHER
TP500 IIA LEFT GRIPPER WEFT GUIDE
TP500 1B LEFT GRIPPER

TP500 1I1B LEFT GRIPPER BOTTOM PRESSER
TP500 1I1B LEFT GRIPPER BOTTOM PRESSER
TP500 IIB LEFT GRIPPER COVER AND CATCHER

TP500 II1B LEFT GRIPPER FULCRUM
TP500 1B LEFT GRIPPER LEVER

TP500 II1B LEFT GRIPPER LEVER POSITION
TP500 IIB LEFT GRIPPER SCREW M3X8

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02522-WZ
SN02523-WZ
SN02524-WZ
SN02525-WZ
SN02526-WZ
SN02527-WZ
SN02528-WZ
SN02529-WZ
SN02530-WZ
SN02531-WZ
SN02532-WZ
SN02533-WZ
SN02534-WZ
SN02535-WZ
SN02536-WZ
SN02537-WZ
SN02538-WZ
SN02539-WZ
SN02540-WZ
SN02541-WZ
SN02542-WZ
SN02543-WZ
SN02544-WZ
SN02545-WZ

PBP83687
PBP55357/PBP51357/PBP55356
PBS66007

PBZ33393

PBO13619/A1
PBR72112/PBR72310

PBO64014
PBP55422/PBP55441/PB55446
PBP64002/A4

PBP64155

PBP69246

PBQ33880

PBQ33881
PBQ46613/PBP46631/PRO46631
PBP55290

PBP55311
PBQ52209/PBO52365/PBO52212
PBP60157

PBP60158/PBO34024
PBQ52208/PBO52211
PBS63766/PBP63766/PBS63776
PBQ33882

PBQ33883

PBP55291/B8

WWW.SINOTEXTILEMACHINERY.COM

TP500 IIB LEFT GRIPPER SPECIAL SCREW

TP500 IIB LEFT GRIPPER SPRING

TP500 II1B LEFT GRIPPER SPRING HOLDER

TP500 II1B LEFT GRIPPER SPRING PLATE HOLDER

TP500 IIB LEFT GRIPPER SUPPORT

TP500 1I1B LEFT GRIPPER SUPPORT

TP500 II1B LEFT GRIPPER THREAD GUIDE

TP500 IIB LEFT GRIPPER TOP LAMEL

TP500 II1B LEFT GRIPPER WEFT GUIDE

TP500 1I1B LEFT GRIPPER YARN LIFTING

TP500 1I1B RIGHT GRIPPER WASHER OF FULCRUM

TP500 RIGHT GRIPPER BUSH/TP600 RIGHT GRIPPER BUSH
TP500 RIGHT GRIPPER BUSH/TP600 RIGHT GRIPPER BUSH
TP500 RIGHT GRIPPER HOOK

TP500 RIGHT GRIPPER LAMEL/TP600 RIGHT GRIPPER LAME
TP500 RIGHT GRIPPER LAMEL/TP600 RIGHT GRIPPER LAME
TP500 RIGHT GRIPPER LEVER/TP600 RIGHT GRIPPER LEVE
TP500 RIGHT GRIPPER PIN/TP600 RIGHT GRIPPER PIN
TP500 RIGHT GRIPPER PIN/TP600 RIGHT GRIPPER PIN
TP500 RIGHT GRIPPER PRESSER

TP500 RIGHT GRIPPER PRESSER

TP500 RIGHT GRIPPER SLEEVE/TP600 RIGHT GRIPPER SLE
TP500 RIGHT GRIPPER SLEEVE/TP600 RIGHT GRIPPER SLE
TP500 RIGHT GRIPPER SPRING

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02546-WZ
SN02547-WZ
SN02548-WZ
SN02549-WZ
SN02550-WZ
SN02551-WZ
SN02552-WZ
SN02553-WZ
SN02554-WZ
SN02555-WZ
SN02556-WZ
SN02557-WZ
SN02558-WZ
SN02559-WZ
SN02560-WZ
SN02561-WZ
SN02562-WZ
SN02563-WZ
SN02564-WZ
SN02565-WZ

SN02566-WZ

SNO02567-WZ
SN02568-WZ

PBP55319
PBS71940/PBP63671/PBP72378
PBPG3777
PBQ63775/PBZ64185/PBO64185
HHB020040070

PBP55356

PBP64130

PBS72168

PBO13640
PBP51785/PBP51800/PBP51810
PBP38999/PBO38999
PBP52369/PB0O52369
HAC020040070

PBS74789

PBO51788/PBP51788
PBO51810/PBO51807/PBO57800
PBV51749
PBO14402/PBO14738/PBO13609/
A40041

A10779

E7MO22A/E7TM021C/UVT70
R0O4+R07

502005/502 005
502337

WWW.SINOTEXTILEMACHINERY.COM

TP500 RIGHT GRIPPER SPRING

TP500 RIGHT GRIPPER SUPPORT/PBP83671
TP500 RIGHT GRIPPER WEFT GUIDE

TP500 RIGHT GRIPPER WEFT HOLDER
TP500/600 SCREW M2X3

TP500II LEFT GRIPPER SPRING

TP600 GRIPPER FRONT PROTECTOR

TP600 GRIPPER SUPPORT

TP600 LEFT GRIPPER

TP600 LEFT GRIPPER BOTTOM PRESSER
TP600 LEFT GRIPPER COVER+CATCHER
TP600 LEFT GRIPPER RELEASER INCLUDING 2 BUSHS
TP600 LEFT GRIPPER SCREW M2X4

TP600 LEFT GRIPPER SUPPORT

TP600 LEFT GRIPPER WEFT GUIDE

TP600 LEFT GRIPPER WEFT HOLDER ASSY
TP600 RIGHT GRIPPER WASHER

TP600 RIGHT GRIPPER/TP500 RIGHT GRIPPER
UV770 LEFT GRIPPER

UV770 RIGHT GRIPPER

UV770 RIGHT GRIPPER HOOK

VERSAMAT G1 INSERTION GRIPPER
VERSAMAT G1 RECEIVING GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




SINOTETILE SPARE PARTS

SN02569-WZ
SN02570-WzZ
SN02571-WZ
SN02572-WZ
SN02573-WZ
SN02574-WZ
SN02575-WZ

GB848-85

ZXMHHJ60L00

ZXMHHJ60R00
ZXMHH2008-8-25-1
ZXMHH200B-08-25-2
ZXMHH2008-08-25-4/66402662
ZXMHH2008-08-25-3

WWW.SINOTEXTILEMACHINERY.COM

WASHER OF GRIPPER GAMMA98
CARPET LEFT GRIPPER

CARPET RIGHT GRIPPER

SM92 INSERTION GRIPPER

SM92 RECEIVING GRIPPER
ST880 LEFT GRIPPER

ST880 RIGHT GRIPPER

MOBILE/WHATSAPP: +86-18058173515

RAPIER GRIPPER HEAD




	目录页横版
	GRIPPER GRIPPER



